


Contrabaix

CONCERT PER A COBLA I TIMBALES

Esteve Palet Mir
Solemne J =60 Allegre J: 124
A g i
pizz.

_ 8 8 6 efe -

D ~ | | = "i' | | | 1
—
mp
26 .
. e 1, e[ e, |
PN 1 | | |

v | | | | | | | 4 | | | | | | 1

-
L
L
v

[f%

o
v




&
PN

pizz.

98

arco

106

1)
Hb 1
n>op

O

=92

Moderat J

4

118

-
=

Hib
1 Hvid

7

L&

O

147

pizz.

arco

cresc.

—— p

e ﬁf\ﬁ o
\ — 1 D
— t+>b
—5
mf -— —

183



Viu i enérgic J=132

arco

pizz.

[\ e

] |

rax
hdl CUWV)
V4

=
a4
|

201

AW

207

213

He

_be

pizz.

221

V&

228 arco

236

L/
r

pizz.

243

arco

252

PN

259




arco

(N

o

266

273

o Iz 7] I }

287

294

fenfom

-
3

-

> eee e

7

310

)
4

ret.

324

allargant

Majestuos J=110

330




